Honors Math 3 Unit 1 Review

Yo, A

Name

31

f,,-:‘:"HOW ALL WORK! (3 pts each )
€ 1. Find the inverse of f(x) = 2x—5 2. ff(x)=3x—2and g(x) = 4x* -3, find
S=Ex- g ’ fla=2)
. () o 2.
=2 g-s  § 0d= R0y F L‘Q&_E.Eé:\;f-_f-_:g( 4G0T3)
S =R et
2 EEER)
3 o= FErs )= 3324
3. IfFf(x) =4x—2and g(x) =3x*> -1, find 4, Iff(x) =x —1and g(x) = 3x* + 2, find
fG)* g(x) g(f(x)
tl 2 al ey =
e ) (30 3 A | AOeN= BT )
- || T2

1232 —by¥E —Ux +2

=306 o
= ECX';; 1) +2
al Ve _13.\:?-.-1‘:\:-—-\-—% Ut

What are the transformations used to obtain the
graph of y = |x + 2| — 3 from the parent
function y = |x|.

et 22 % Lp

5.

6. Setup asyster tions-ant solve. The
perimeter of a rectangle is 94 cm. The length of
the rectangle is one less than three times the
width. Find the dimensions.

P=2L+ 2w oL =3 W
AW=TLLr 200 2= W |
L= 2w | L=3UL)T)
. L=
AU 2(3u0m1) +L W2
A =uwo— 2 3
a4 = Qua—2 tLw SW"Z(,H,‘
7. Setup a system of equations and solve. Kate 8. Write a piecewise function. A T-shirt printing

has 45 coins in his piggy bank. If the coins are all
quarters and dimes and their total is $8.70, how
many of each does she have?

company is going to charge HHS $10 per shirt for
, the first 75 graduation t-shirts. If the school buys
more than75, the company reduces the price to §8
per shirt. Express y, the total cost in dollars, as a

Gb,,._k— & =45 ‘H? 39 QOins pi«:.icewcilse function of x, the number of shirts
259 ral0d =gy YA S |
5 Ok x &
O K G t.10d = 990 X S
‘ 1S g = 420
E s 19 ot
F = A RPN
L3 % die A Ay
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o,

Graph the system of inequalltles.

3Ix—-2y<6
Xx+2y<8 \ .
Vertex (=1 E§
%> ,7'3_)(, = 2 {<T o i ]
- = \ 4 in & ]
<1 <\ Domain =0 0 ) o 1o -
%‘ < .‘i!—/)("" LI’ - ~ J_q— . 5 p 2 N
J . - ange _‘ .*-OD;Q ) . NN
e - 3 2 I T T - E ‘,'
=daas TSR
ge 1; : 3
~F—
& — ; %

A= ]

10. Graph y = —|x + 1|+5

11. Solve and graph the solution on a number line

§|x—1|+2<6

EW
Ll RATINEY
=1 < G
*l s -
F +;(° ek
XS -5 XS-¢ ¢
Y\ £ G X L™ oo
v 4y

N
A
X
N
J/’"
°
:
(g
a
J

12. Solve and graph the solutlon on a number line
=2|lx+3|+2<-10

== _%
AN o
Y__*’ >b e Xy, i
> s ~5 -3 @

Range:

Sx)=

Domain: ["Ooa EE l

13. Graph the following piece-wise function. State

domain and range.

x+2 if x<-2

x+1] if-25x<0

1 if 0<x<4

(-o0,-41

9 3
14. Solve by SUBSITUTION!
{x—9y=25 Y= qb+.15
6x-5y=3
i L@y +18) -5y

' 5\-\\3+ \SQ "‘58:»3
(—L)—?) ) {Fq}é ="1y"

%E N9
=3

X—= c’(‘é}l{g @
TR

=~ -7
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Math 3 Unit mtlons and Thelr Inverses

Muldple Chelee:

1) What ia the equation for the luverse of the function y=4x -5 17
(A} y=4x+$§ (D) y=-4x+S5

© yuis-d © yoiasd

2)IFMx)=-3x+1 and plx)=25", whish ls the function (f » g Xx)?
A a1ty 6x' +1 - K%u‘} )
(C) H=3x+1)! ) -201-39) - (:‘5(1\‘?;- "
e 2x A
I)IT(f o g Nz) =251, how oight fx) and g(x) be defined? o 4
z 3= -1 and glx) = 2x - | _\ -y = -
mxl-:—t:ru:((:)-z:n AN\ =) w2
Kp=2x- | and gix) =%~ | P NYN=N Ry

x)=2x+ 1end g(x)=x-1

A oL =Ty
fe-Jy=0 T +
4)0lvlhuyl|¢|ns‘_6y_ 16 ‘Which statement is true?

A 2o v e A v
\mu solution 5@, 0).  D. Thers is NO salullo. @z

1& nre Infnlicly many solutions.
'

5) Pick dered pair b n solution of te synem of linsar equations, i:::;:;]
ALY B+ L4 ,l}

&) For Mx)=5a ¢ 1, find i[-4)

(;:)-19 B C.:21 Dl

T) Trom jockmg st the graph below, what |1 8 solution 19 the rystom?

= .J'I'j I[
i R ERANRE W (2.6
. i @
s can
H
"
D.(,%)

% 3) Which constan! could you multiply onc of tbe equations in this sysiem by to solve by

Ny

climinstion easlly? IresymT
~2x+ym8§
o
@:, ] ¢ - D.2
%) Which paint sutisfies the sysiom y = x4+ Jand y @ 5 = 571
A4 B.(-1,2) C.@&n D.(2, 1
0) Giraph the equation -Ju —y = & _;.—3_)6.
A r . A ] % +P\°
@ ; : o
) \ =
c\ AL I Y Y 1
-2 0] \\ r 2 '\?—A—-- g ®
¥ " " e
. A | -1 -
o | N
\ ’ L 1»
1} L ’j
W/ AV
- /
2 A i 3 < 'R
A
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Jx+] ifxe-)

1t) From looking at the graph belew, what i1 (are} the solution(s) 10 the syitem?

A B B.(26) C.(s3)wd (1)

D (43) ead (07)

T3) The exuations 51 + 2y = 4B and 31 + 3y = 32 rapreseat tha money collected fom schon] concert

14) Evaluate the plecewise function for the given value of the doauin. /(x)-{ 2545 Ifxz=1"
= xz-

L "D R =

A9 D8 @ D.7

15) Which set of pointy s in tie soluvon sel for the sysiem of inequalities: X -y > b and y <2z - 17

o ~/ e
A e Kz -0 /((o,n D)o.-3
16) D ine which of the following relations are i Circle your answer.
b)

a)
] 4 ! |
] Ll

(s WAk iy e

4

[]- 3 T i

ticket sales during rwo class pﬂbﬂt@:r:mmm ¢ 23 y represents the cost for ¢ach sdent
ticket, what iy the cost for esch adulr tickzi? b T [ L
A4 8. c D10 5% Yy ~\M¥ it EEX
the iy da -3y <- 3. = = N f—|
] G|.=pl| inequality dx = 3y <- 3 -_3_\“_'1—_%_""“"31 i | [ “[
‘ %Jk } 7 o L i
2_& - “o 1 i}
X =% function? (circle one); Isita @\?(:hﬂeone):
'P:I'II Yes
3 \6 > Q')C +3 1‘.l’jmnlmloImum:ulhlnwmhm-dmnmwmmhé

@

2 modeled by tho equati "’o‘w+67‘zwmx-onp..@wuu waa the abor
by thoequations _ pamr 4329 = q%”"

0. 2=U%m0

™oy g (067& mmm-m.«q-u'mv T\~ 3o - a
' 9

Round your of 10 the nearest year, % q
@s B. 1890 c. 197 D, never 3= “jé"t"
18) Which of e following best describes the trnsformaations used to obaain the greph of y ==fx-+~3 BSOS +
Findiod re iy
from tho parent yehl? M U

. I:Mmmm,Mmuﬂlwm three unjts
H. jhiect across the r-axis, sl left coe uale and down three units

C. roflect scross the y-xis, shift feR one unit and up tbre unkts
D. reflect scross the y-axis, chifi right ane unit and down three uaits
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19) Usa the y@mmﬂﬂ: the funstions domain e range.

A)Domain [0, @)  Range (-, @)

B) Dommain (0, @) Range-1, )
In{0,@)  Range(-1w)
D) Domain [0,0)  Rangs [0, @)

2.5 |35+ 5] = 1

2 ]
@D
b r=3ordxA

[ x\\lnu--l
@—-ll org=-2
3

TS =) UL D¢ *S = |
R TS e
Bx="o %X—‘-X

X =L

Free R

°

]
Given; [/txl=22+1

glzx)=13s
Mxy=5
Hx)ma' 43210
t{x)=4z
ﬂa]ﬂl{r‘ix-lﬂ
Find each of the following e
7% h(-10) (b+e)lx) 8- ) #(x)
LA NE ae=s nE 3ov* 4
£(x) ale2) b(x) o)~ g'(x) Jix)
»—\ Loy [ ¥H3w—10 N CA“E I j"_!,
T e
[
2y Given the linear cquation s?ﬁyl?-ﬁo Put into slope inereept form, Then find the
slope and y-Intercept, 12 ~Sx +t
%’_ - _20
$Slope Imercept Form Slops Y-intareept
WSy S ~S/2 (0,5)
'3)  Use the following piecewise function groph to answer the questions below.
NS A S B = =1 Feal
b ‘
maaddvd B0 X511 Sed
K R (R (% mot l—ﬁ,_
R} AL —= ‘L
- i : K=" fiveh
I | ﬂ

Scanned by CamScanner



4)  Given the graph of the function, g(x), below, identify the, domain, range, and how itis
translated from f{x) = [x|.

e o e )
% i i VQV\’QM C"Z;%\

|
e = :.II;'_.I:“
EFE
Domaln: C_.‘p..)a:~ 3

Range: (%)31
Translation from f1x):  v-e @2 e ovs 2 ~ aacis 5 1R T+
>

Equation of g(x):
By I x4+ +2
5. Graph the following incquality; 2x =6y <12
4
o Ex— 2 R
State the slope: V2 ; : 4 |
— 34 1
State the y ot CO> ) EEzia=s 4
|

6. Solve using any method. Jacob has 34 coins in his piggy bank. If the colns are all quarters
and dimes and thelr 1otal is 36,35, how many quarters and dimes are in the bank?

A) Write two equalions to rep: t this situati
RF+dz=ad 2)+d=3Y
=2 -9

B) Solution:

- 410 d= Q.S‘ %

- log.— . = ==
o= -3.q,

.QST)_+. A = 65T U % s
~4 = 3us <+
o .,j—“ 1-35%_&

7. Refer to the graph.
Is the given graph a function? How do you know?

o . dersyreh Pay
U G i, 42

Is the inverse of the given graph a function? How do you know?

$44aa

Wil PoeS o il s _,&&

Draw the graph of the inverse on the same axes.

8. The polnts (9, 13) and (4, 10) are on p(x). Name 2 points on P (x),
U4y & {o ~v)
SN w9 U

9. 13 it always trus that /(s()) = s/ G0 7 1 yes, state why. I o, give an cxample where it's
otme. DD onlyhrae. (& S ooy iminey

SUN)= X\ alx)= ax

10, Evaluate cach of the following for fukction g (the graph shown). IF you use the graph, no
work needs to be shown. Else, show your calculntion. IT it Is impossible to evaluate, explain

why ot
v = Y e
b = —o :
c h) = wedRead  (hetl)'§ s
a8 = “0 i
o n(403:.‘ 26 - 3 | it

2(w0-9) 42

=Y
- (5L)+l —;1(0

@
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11. Graph th il'i';%iawing piecewise function in the space provided. Make sure that you clearly @
erase all parts of the line that do not belong in the final graph.
-3x+2, x<3
h(x)=14, 3Sx<7
2x-10, =x=27

7/

T

N4

e el

U

g |[POio=p
T Harig=3 |
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Honors Math 3 — Unit 26,

Show All work!

Name

terms, A. (—8d3 —7) — (—d®—d?—6)
~$42-1 +d2+3° 19
= qd'j'_,,dl.-y

sF-Bx - 2aErlah

e

(/{uf + D4 MBJ

1) Simplify and Classify by degree and number of 2)Write a polynomial function in standard form with

B. x(x —3) —2x(x— 3) CU-b‘n./qr' \): X L5A2"‘)3X'@ )

the roots 0 3

B g lx-3)(5x+2)

\i ;5K3*'3ler{ﬂh

3) Solve to find all the roots. x* — 64 =0

(X4 atetlle = O

Y= y" +i 1 = et (\D X=-2¥ \[ L1(L])UJ

4) Solve to find all the roots. 8x> —1=0

(Rx-1) L144 “r2uri)=D

am——

2cw’
X:"'Z—ii\fj
? -
Xv - 3"'“.)3

5) Divide using synthetic division.
(x* — 6x% —27) + (x+2)

:&)\ O - O -3 77 K%+ "H 34ls” TS

'] % +’)x
L 4.4 -8 = TTNAE 45T
| =2 ~& Y 3g Ba > H!
——— _____‘__’/—\ o e T ——r———t e T
J//‘—B }—'" o
l A "R)‘ ';X + y 2~> (g
( R

6) Divide usmg Iong dwisio L
(7x% + 11x2 +E7x+ 5) +(x2+1)= {4/2

Scanned by CamScanner



A ST ET ¢
1 S |
A B <5 W
-2 -4 LO
gE-ux -4 =0

) ’-zmm«- pfL] o P
\)Q‘ N =" 5 o

%=1 =25 N4

13} \- g

8) Solve to find all zeros.
f(x) = x3 —9x% +28x — 30

g 93 O
RVRERE ¢ o)

| ~b o O
Wl FIO = O
hly 3G =— 10+ T

¥ =BN2w T

(=D L

RS

9) You want to make an open top box from
cardboard. The original cardboard is 20 X 30. Find

the maximum volume and the length of the cut.
Round to the nearest hundredth.

Vs X (AG ) (.5{3-2«%)

10‘}'!“(2“:&- 3) a factor of
6x3 + 25x% + 15x — 15 = 0 ? If so, find the

remalning factors.

=
i
ik
==
3
—

Leq\sf‘f\(:'x qu a
wavol. 10 5L:3
11) Solve: x* —12x* —64 =10
]sbu
2 o 32
o x¥ N

12) Solve: x* —x2—-72=0

A-q. x+¥
i5 T Z-‘Jrl
1\\2’

13) Find the discriminant and describe the roots of

14) Solve by completing the square

3x2+2x—8=0 XQ—QH"?:D x?—6x—-15=0
23y L-8) o)) gy xf 2974
R TINCL Ay (x-3) = 24
JW ATwds5- f-3 = 2 e
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Honors Math 3

Unita-

I. Free Response — Must show all work! ( 3pts each)

Name

1. Simplify and Classify by degree and number of terms
3x(x—2)—-(x2—2x-1)

R ,_.,ﬁuw
.;u Y A

i

(g e

2. Simplify and Classify by Degree and number of terms:
x(x —3) —x(x +2)

3 Divide using long division: (x* —6x + 1) + (x — 2)

fz,}/:z/

4, Divide using synthetic division:
(x*—3x*-5x—-7)+(x—2)

1..._,..—..-—--.-5---"--:--* 2x4 ' ‘ _ . l ) )
QT«LD&?' L 2]) 0 -3 =5 -7
Y |

'x 1242’,___”_ A _j _____‘_,g;‘__ﬂ:g
e 1:;% (- l_ _ _23 3
g LS N ﬂiw
'3"2’7:,1’,%-7\ N l /(3 yex” i~ m x+

5. Solve: x*—4x—32=0""
(X "'3\‘ )( ‘!"’( . {2

(A

.....

7. Solve: 27x*—-1=0

(3%t U-'u 43} T

8. Find all the zeros: x® — 6x2_;|-_31x +16 =0

ANEN Y

>
;Xu’% x ‘:5"" \J3? HU}; ﬂ L(f L‘ .-l|(h;
S QM_“ Y Lf O
Ao=Bdy, -&"! P 2 x w--L/ "
s X)‘ 22 5o '.:-le
% (x=\ P =5

X:“'jw- 373

12/

X = ,3:\['5




9. Solve to find all the zeros:

2
K= lo¥ 0y O

nnnnn

{ X ~3)%= ~| ‘
(=2 =t =T 3—3‘}

ng = x3 — 9x? + 28x — 30 E 3/ ::i.' f.
S —q ] 1 r_"';., £~ s
'~ 10 |L©

11. Is x + 4 is a factor of the polynomial
3x3 + 12x2% — 3x — 12? |f so, find the remaining
factors.

] BT,
3 0 -3 0
3423
A1) Lt \'

12 Write a polynomial in factored form With roots at
X = -5 with multiplicity 2, x = -3 with multiplicity 3, and
x = 0 with multiplicity 1.

15. Application Problem

corner. ROUND TO THE NEAREST HUNDRETH!!

A metal worker wants to make an open box from a 12 in x 8 in sheet of metal by cutting equal squares from each

a. Write a function for the Volume of the box.(1 pt)

V= (12=0x) (3= PR

b. Find the maximum volume of the box and the side
length of the cut out squares that generates that volume.

@PS) Nax Volume ! (07' (o
LENAIY 2 ] o557

Review. (3 pts each)

16. Solve using completing the square.
x2—8x+4=0

Abe GXrl < v
eX Hj": AP .

. "r:.ﬂ
4 L

P L Y RV ¥

17. Find the discriminant and completely describe
the roots. 3x2+2x =-1

a2 -4Ll3it]
H-i2-
?3'6




H. Math 3 Remediation Sheet for Unit 3

Name

1) Writein exponential form  Inx=p 2)  Writein log form mé=p
v
er=X _
[o5 P =<
3) Expand:  logx*y? 4) Condense: 5log,x — 4logam
5
i y B 5 y
Qg vv S5y S
5) Simplify:  (Se~**)72 6) Solve: e*-5=19
ax n
5 -—&6 BX )f\ ¢ = 24
Axtne= Ln L“f
7) Solve: 14—In(x—3)=8 8) Solve: 25+ = ;2531;2 z ]
. ) ’ X~
a3 g = 6 A8V
In(-3)= b gaxrs = g AT
4=
f"’: 2 D
9) Solve: logs(x+3)+ logs(x +2) = 10) Suppose you deposit $4500 in an account that
logs6 pays 3.5% interest compounded quarterly. How long
( 5 . ps ) b will it take to reach $7000? L)(-i-)
P sz o -
’05) ; ) . 95 7008 = Yool |+ P-L:?—j )Lﬁ‘:
A o)X e =
g | 1,595 =1 (1.60875)
AZOY T
M
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H. Math 3 Remediation Sheet for Unit 3

Name

11) Suppose you invest $700 in the bank and it
is compounded continuously. How long will it

12) A cup of coffee contains 140 mg of caffeine. If
caffeine is eliminated from the body at a rate of 12%

take to double? ,_‘ 7 S’ per hour, how long will it take for half of this caffeine
A= Py g L ! to be eliminated?
Suas
o0 = 700”7 y= 1o ll-. lz)
425 _
L Q=g 10 =two L1-112 )"
o= .burst Ln’ 5= (89
13) Suppose you invest $850 in a bank at 3.25% | 14) Evaluate:: log,8 — log4
interest compounded monthly. How much T g
money will you have in 8 years?. 95} ‘;_"’
033 3a> 12L5) _
A=850(}+ | o 4 2

ﬂ_@

I

15) Harry purchased a car for $26,700. The
value of the car decreases by 13% every year.
What will be the value of the car in 10 years?

N = Al 70 (1-13)"°
5 (329

16) Write a function that translates y = 3* five
units to the left and 4 units up

e 3X+5 -+

GyF 2y - L

17) Solve: x2 —6x—3=10 18) Solve: 2|x —4|-3>9
J2-bxsd =3+ ) x-y| > b
(A-3V =2\ = Sl BE - a4 v
x-3= 2205 fot%ﬁe 222
3ErD -2
19) Find f° g Iff(x) =x2—7 & 20)  Findfi(x) If f(x) = 7x—2
g(X)=3x—2 U:7X—L
)]
i x= g~
(\3){—2.)2‘ - )_(LL;L
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ot 3 revew pg 3

D vy:o5 (len)”

[+ = .67
r=0.67:=067% ﬂwy% rafe

witin] omoutt ¢ [0.5] = a

® B

ey

c{,‘;cmy

- %201

i nt
® AzP(1+ %)

@

©

ys |0y
a=)
b: ,:/"/

3=

pre 1142 (o
Yaiiel ampwt ! @

= (0E

y= yg000 (|~ 0.15)°

®

y= 3%\

Asympfﬂ'}&'v =-|
Dowtane : IR
Rav‘a{: (-' ,/ DQ>

EB.

As x»o,
Y2 oo.

As x2-9,

y -,



@ Y= ;,z(x—'i)*;_ @ IOJq ()(H)
A5m/7+0+6: )’:R :45)’mf7[°+"’: X=-]
Dewern & TR Domeain & ("f/ o)
RM’?—L : [R/ 00)

A
5E/f
<@-——_—_—¢f’:-—' - =2 y= A

¢—f~+—H—]}|—«——f—t’7x

J

FBL As X sy Y7 FB: As xvw, >N

= = f ,_m

@ o=’ ECARTE

A
- Jeg, U )
lejto (Vo] fjlb loji 97 = /?7? 729

® ov=4 @D  log 1000 .'"Zj'mwd:@

"2742"’ =3

= 7 ‘1— ? - ’
@ "3_711 A5 /f{jl,‘/ _m @ "Uz? X 0:_& CQ’CU/&‘/:(\,).}

G- gy "

A /0 9 _ =
67" = 1T

xX= %



]((97 aAxX=5
ax =10

X = "?u = {;Tgvooﬁ
A

3X¥

[ A

‘fﬂé 2 :{ojkis
BXER = /0(74,’8
AXFRA= |ol

X=/[~0,/29

e = 2
AX 2 (A
X=[lR < 6,347

lu X=ln ¥ =7
X
In 5 =7
X b7/
L/"C
X =

3IX+RX
=&
Sx
€ = 0
SX =z [no
[PET
A= [—5"= 0.597



@ a=00

half-[ife means [7=‘£'\
y: &00(';;}:) t//(aao <« T b)’ hatf - life

50904
Vs ago( %) 1e°¢

@ [ ee"D @ €IK3: ’Cﬁzg :[D @ @



Unit 4 Part 1 Remediation Sheet Name
Algebra Il Date Period

Part I - Multiple Choice. Circle the correct answer, (2 pts each)

. . . 2 2
1. Which expression is the least common multiple of x” —1 and x” —x ?

a. 2 (x-1)(x+1)" b x(x=1)'(x+1) e x-1 @(x_l)(x+l)
2 Simplify X +5x+4 2x+2 ‘x,;_q,\u-ﬂ) ?_{__J,’-_r_'[

xt+2x+1 x+4
2 x'fl H
- o 0 =4
2 2(x+1) 2(x+1)

Part II - Simplify. Circle answer

x? —4x x? -8l i x4+l x+1
2 +7x-18 x —11x+18 T Sxy 4x'y
2
Xlx%) w42 Lel., He'y Yx
* F .
Fg X XA 2 W e 5
x L4
V. 2¥- 3‘22,;;40)
X +4x+3 2x+6 ¢ 3Zclsa+18 z'-2s-3
F+6x+9 2x+2 7-4  *+4z+4

Ag rd | lred) W m Z+2
M abmd iy ek 2+
@ 3(z+2)

e d
Simplify. Addition/Subtraction.
5 =2 : 3, 1 s )
7 S—— . ]
" x=2" x+3 X +3x—-10 x-2
S4FIS =Ax+Y
- A5 4 S
A=Z 143 A4S K- &

AtE
+5) [x-2)
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2 Ufg’
9 X . 10 e e
' ¥ -x=30 x-6 " X iax+4 x* -4

Kb s

y & tuxr2O
W-v)lers)

&
A T )

L=y +514e £ 534+00

2/ e 2
(Y42)+(x-2) el
Solve each equation and check your solution.
11. qn ""4 9X 12, ;=L
x 9 x—-4 x-2
A+ q=34 4 A2z -8
2)
4"_3“ 13“5'2') 6 1
13 e 14, s e = |
F% 3 3x-6 y+2 y-2
bx-y+= 93 -1zt y+2 = ‘17._‘1
S = -1 —73-10 Y - Y
Y=L 7
Y '7j +0
b y-l
Simplify - le j &
5
% Z:ﬁﬁ 5x-1o+SL+LY
x+3 x'l"} x-)—
Px+1y | R )3A+1Y
B AU-2) @ Lls2)
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Honors MATH 3 Unit 4 REVIEW HW

l. Graphing. Complete the table for #1-3. No decimals!

Name

Function Root(s) Jy-intercept ‘I;I:;z;ltl(:?el A:I;ll;lt[i)ct?)lte
=4 b - o )
L f)=-5+7 (_%/ DS < 6,53 y="7 X=2
2. f =22 (—%j(ﬂ / (),'_‘:: ) Y = X =4
J ol =(Jr—6)(x+3) \ - D) v i/ — A
i U ,SZ/ Lo (3 (0/?J None /(":'3"

I. Multiply/Divide ~ Show all your work and box your final answer!

x2+2x+1' x+4
"X +5x+4 2x+2

(e 2 6o
=
|2

© x* =36

3/r L#e5 ) &«@)&5 )
bﬁHU rdﬁ ~ ] 532 (e Grre) o

3x? +15x

(x5

—x—30)

" sxd +50x | x? +9x

MW) o xbrsd

x> +8x-20 x*+7x-18

—

lll. Add/Subtract — Show all your work and box your final answer!

8 X+5
+ 2
7. X’ +9x+18 x'+x-6 \
‘ (e
(X 3) (,H; x43) (1)

L Bl oAy 3)

| 8.

554) |
__K-i;?—)& - iiL%
5 2 L-Dla3) 2 -3

b -2x+1

2x—2_x2

.i—QX]

X

-4x+3

=l

o

S. +
x> +4x+4 x* -4

3)( Tiﬂé 3 AL L’/'X'HZ—

3x 6

B
Oﬁa}&r&\ (¥=2)lxf2)

D) by X X“Q) ) (A Qﬁm?—u—z)
F FAx Y ?L:\”cti 2 X2,
- - X+
b &43\&—2,JJ e ALE3) (X+2) VL2 )
- __)ﬁ;-_\j 3G [ 3

IV: Simplify — Show all your work and box your final answer!/

2-3)

R (-2 (X2



‘-l g+ -lx =X = Sxtal
10. Eji ...--C-;)—{-* DX U AN | G (2. )
T Taep 20 gX, Yd)  ya)sx)
Ylka) Ty lera) AN DU+2(o .

24X (3ye2 L)

Ay 2) ($-X _J
'76 314 20)

IV. Solve each equation. Be sure to check for extraneous solutions. (3 pts each)

11. "IN"'{\ . ,L\ N ) Q_&X
1 +ZUL_ 3_xu _._x_‘\'__%.__,_. L AX -8 — __515-4)7——
x—2 " x+2 O/——Q)Q@g,) Q(—Z)[ﬁ&) - Q{~Z AL)
2)( +¥—lp = Bj 2~ X
g&;g O = X2 =TX + o
e - 0= Wl
s SETS ko= 36x-30
B S AT B 128 =0 5/?(%
i X)—_Zﬂx __Y,rp =0
| -5 ¥
m oty L tlosel =140ty
2 bxtlo _Merly > _gy- 90
v e el //iy 2 _
o))(l.,kﬂl Ax Lyt 5)( —-L//—-L,/O
> 2 ,
: f—_cgg " -+ 2u= = O
@ 3 4-2)32Ux=2)= 0O
x2-4 N—
14, — = —3 .
- X= ‘"‘/
A~ Bias |
o B = {(’//lg
X T+hasY
+y)lx-1) =0




/
Ma%}il‘/ /\J//.

1. M is the incenter of AABC, m 2CBM = 27°, and ¥
m £CAM = 35°. Solve form 2ACB.

m LACB = 5(4 T

2. Mis the centroid of AABC, with EB =13, MF = 7,
and BM = 16. Sdlve for the following:
o B

3, Given: COABCD is a rectangle, and M is the midpoint of AB. D

MD = 8
dV'
o et
Statements Justifications --[ i ) ’,-

Prove: DM = CM

1. 1. Given

A CA+LhawAe Pefn

-

5 ch2eh il rt e
g Rz MA Nofh midpt
@) w2 ma WinZ 5 B

&) Dr2 A D

Y S
@

@i,




4. Given; BD. = CD, and BC L DA.

Prove: AABD = AACD.

8 KD iom

a) FD 2AD 3) Rufl.

3)cAdAreAIC  |3) Dol
awn rté

Y chdAZchC

= & ShS:

—
In question 5 and 6 expressions are given that represent angle measures. Given [ || #it, solve for x and the angle named

& Al rteoe

.

5, Te.
A A
S5x +14 /
‘\L\ ~ 5x7 > |
2 27;-/35 -
1 74375 180
5,&4‘/9:»‘2__-7&-/8)(
IR Lf
me2=5/ x=__ 3| meli=_153

7. What is the length of BD in rhombus ABCD? DM = x “J'

iven isosceles trapezoid CRAB, what is RA?

. 3x — 15 . C | & 3x + 11 A
¢ 6x @ 18 B
f+3= 3K = X+ \ + ’)?\
Vg X § Cf ‘3&% | M ‘/
;’;?J' b Y QX ’7
BD = \6 | _ﬁf_ "/5’9&
. e X
3(5) +ll

'S 1

RO

@



9. Given OKITE is a kite, solve for the measure of the
marked angles.

I
3
K /K_Mf T
322K P2 7
|

E
mzl = é E
mLd = iQ
me3 = _, 52

10. COBARK is a parallelogram, with m 4R = 90°, and

BA = AR. Solve form £BAK.

A | R

3 ; Y2

40

m £LBAK = '5

11. Find the values of x and y such that DABCD Is a

square.

|| I

Sp+1-

T3 Sx-y=dy
1 ey
Xz &

] L

5&1-#1'52‘:;*4
y=_1

x=__ O

12. Solve for the measure of angles R and T.
HINT: QRST is a kite. R

Q 70° 60° S

m<R=_\;§5£ m<T=uLu

13. Fill in the blanks below.

™
'

The two angles marked are _Cap. ot
e What type of angles?
and are 7 N\

Complementary ’r's\:.mplmuunlar'{? )

e T g 4

angles

14, Given the parallelogram, solve for x and y.

/ 124°

x=_HY
y=_93

(2y — 50)°

2(x + 8)°

R XHly =) L

Q? -50 =50

«),

@

Z(j:,)f)b

\V



A\

Honors Math 3 Unit (Z ')) Name:

Round all answers to the nearest tenth. *2pts each

6. You are standing at point B. Point B is 16 feet from

1. Write the equation of a circle with center (5,-3) and a the center of th_igircular water storage tank and 15 feet
diameter of 8. from point 4. AB is tangent to @O at 4. Find the
radius of the tank. - ‘p
v3l = .
- z 'l“ a -
‘24 o4 1Y tptd e ' 2 2 a
s P (y33)? ) |/ 5200
""'5 + - Ib. E o )
2. If a central angle of a circle with radius of 6 cm measures /
70°, find the length of its intercepted arc. ~
AL
- -
AN~ 30 7. Findx, V53 7.3

.3

3.What is area of a sector formed by a 36° angle in a circle
with radius of 7-in?
|5 4P

mel T 3 T

8. Find ZD. '7!_,’
4. Given: In ©0, mBAC =300°, Find m£B.
3p°
e QD19 A+Y= 18D
| 38x +28= 180
33x=)5%-
Xz y
Find the measure of 'D‘EE in ©@P.
7]
X
l¥b
Py 9F

D



I
9. Find the measure of the arc indicated. R 5 - 'é ( 1D 5 -X )

| 5p = 105 -X
Ry~ =4
18. Write the equation for the picture below.
\ 105° 1
5 5 D ih"\\

10. Find the measure of the angle indicated.

T A —a0) 4 =3 )
<
10
11. Given circle O with radius 17 and OC = 8. Find the \ ‘\ ___,__,J
length of AB. s \’ </
- S g
AT ¢ TNGB 32,;- XQ: % X=2
3 I% ‘\.} 20. Find x
I\.__. ¢ / Aa= "" Lq )
/ _'_".* 4 - 5
( 5 ‘1
| \ )
12.  Find the value o,f('x. 50 +3p%-I0 = Bp N _// Z b
" 30X 40 =30 21. Findx Se— -
r = =\
R , % ' "\j‘fy blxsb)=7018)
() 2 l 7
1 Y b3k = 13p

S SCm——— 4

17. Write the following equation of a circle in
standard form x* + y2 +4x -6y +4=0.

Keiard 4y -bytd= -4 +4eq

(&+a\" + (y-3Y =9




Math 3 Unit 7 REVIEW for FINAL Name
Calculator ACTIVE

| All triangles are right triangles. Solve for the variables. (2 pts. each)

1. 2.
30

10° 15

a=_ 5.2 a

3 4. 14
xD
x° 12 10
4
x=__]9.57. x=_35.5%
Il. 1. Convert each. (2 pts ea.) (Show your work!)
5. 160° to radians 6. 7?" to degrees

25 Y



Calculator Inactive NAME

Form A | Use the properties of special right triangles (30°-60°-90° and 45°-45°-90°) to solve problems.
(2 pts. each)

x
1 A= IJ 2. I ] X= Z

45° I

V= ¥\ v = _H_Q
Y - 3= = =]
6
= i
] 45° - -
X 4

7

Multiple Choice 16 each)

l ) 5. Which angle is coterminal to 120°? 7. What is the exact value of sin 30°?
a. 120 radians a. £ [ 'P_g
b 240° S
c. -120°
d. -240° ¢ -4
d 4
6. Which angle is coterminal to & ?
(2) & 8. Which angle has a cosine of - ?
b -
c. — 2#—. a. 60° {1 i
b. 300° \_
d % e

d. 120°



Find the following. (1 pt. each)

9. sin 150°

12, tanm

0

15. cos 180°

21
10. cos—

13. sin240°

16, tan45°

11. tan 300°
-V3

¥y
14. tan 1

V3

18. The point P has coordinates (3,-1) and is on the terminal side of angle 8 . Evaluate the six
trigonometric functions for 6 . If the function is undefined, write “undefined.” (1pt each)

GRAPH THE FOLLOWING. Show at least 5 exact points.
19. Y = 2sin(x) -1
h I

Period

sin @ "r[Q cos 6 2 \[Ib tanf J/
JD /o 3
csc 6 sec @ - cot O
V Vig
10 3, -3

20. y= cos(x) +2
g

','“'L\_‘ L i "'::32
\l‘\ \‘//!/
. bt —r— 4

Period ﬂé Amplitude

|



